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SRDMESEEXKET(BER) 3,852 5,762 7,731 9,762
SEDMESEEYRETT 5,930 7,920 9,972 10,982
SRDMESEEXKRETT 3,852 5,762 7,731 9,762
SRDMNESESYREPHRRIRE(RER) 5,951 7,961 10,034 11,065
SRDMESESXIREPRAIIRE(RER) 3,873 5,803 7,794 9,845
SRDNESESYREPARAIFEIFERER) 5,951 7,961 10,034 11,065
SRINESESXREIPRAIEIIFEBRER) 3,873 5,803 7,794 9,845
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SRONESEEXKRET(ARS) 1€ 26 3F 44
HREO R ERER 3,852 5,762 7,731 9,762
FIFEEH 3,852 3,852 3,852 3,852
F2EEEH 1,910 1,910 1,910
BIFEEH 1,969 1,969
FAFEEH 2,030

X KET(BER)FENRIRBEFEE 100,0002%+ELERRBEAIRSFAEEFE ESAERER
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[5f . BEFAREEFEREE S%ZFERMMRI - TMAARSFAUEERAEM(1.80%) 2 F &
X1 : 100,000%2%+(98,000%1.05)*1.80%=2,000+1,852=3,852

X2 :((98,000*1.05)-1,852)*1.05*1.80%=101,048*1.05*1.80%=1,910
X3 :((101,048*1.05)-1,910)*1.05*1.80%=104,190*1.05*1.80%=1,969
X4 :((104,190*1.05)-1,969)*1.05*1.80%=107,431*1.05*1.80%=2,030
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HREO R ERER 5,930 7,920 9,972 10,982
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D=FBEFER 1%

Y1 : (100,000*1.05)*2.79%+100,000*3%(CDSC)=2,930+3,000=5,930

Y2 : ((100,000*1.05)-2,930)*1.05*2.79%+100,000*2%(CDSC)=102,071*1.05*2.79%+100,000*2%=2,990+2,000=4,990
Y3 : ((102,071*1.05)-2,990)*1.05*2.79%+100,000*1%(CDSC)=104,184*1.05*2.79%+100,000*1%=3,052+1,000=4,052

Y4 : ((104,184*1.05)-3,052)*1.05*1.80%=(106,341*1.05)*1.80%=2,010
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X1 :100,000*2%+(98,000*1.05)*1.80%=2,000+1,852=3,852

X2 :((98,000*1.05)-1,852)*1.05*1.80%=101,048*1.05*1.80%=1,910

X3 :((101,048*1.05)-1,910)*1.05*1.80%=104,190*1.05*1.80%=1,969

X4 :((104,190*1.05)-1,969)*1.05*1.80%=107,431*1.05*1.80%=2,030
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KB 2R E R 5,930 7,920 9,972 10,982
FIFEEH 5,930 2,930 2,930 2,930
BE2FEEH 4,990 2,990 2,990
BEIFEEH 4,052 3,052
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Y1 : (100,000%1.05)*2.79%+100,000*3%(CDSC)=2,930+3,000=5,930
Y2 : ((100,000%1.05)-2,930)*1.05*2.79%+100,000%2%(CDSC) = 102,071*1.05*2.79% + 100,000*2% = 2,990+2,000=4,990
Y3 : ((102,071*1.05)-2,990)*1.05*2.79% +100,000*1%(CDSC)=104,184*1.05*2.79%+100,000*1%=3,052+1,000=4,052
4 :((104,184*1.05)-3,052)*1.05*1.80%=(106,341*1.05)*1.80%=2,010

[EI C BA X ARIMESWEZHEERRES 1.80%]

BRI ESESXKREPRABRE(BECSR) 14 2F 3F 4
ﬁﬁﬂ%ﬁ;@i’é%%‘%%ﬁﬁ 3,873 5,803 7,794 9,845
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B2FEEH 1,931 1,931 1,931
FEIFEEH 1,990 1,990
BAFEER 2,052
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X1 : 100,000*2%+(98,000*1.05)*1.82%=2,000+1,873=3,873

X2 : ((98,000%1.05)-1,873)*1.05*1.82%=101,027*1.05*1.82%=1,931

X3 :((101,027*1.05)-1,931)*1.05*1.82%=104,148*1.05*1.82%=1,990

X4 : ((104,148*1.05)-1,990)*1.05*1.82%=107,365*1.05*1.82%=2,052
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Y1 : (100,000*1.05)*2.81%+100,000*3%(CDSC)=2,951+3,000=5,951

Y2 : ((100,000*1.05)-2,951)*1.05*2.81%+100,000*2%(CDSC)=102,050*1.05*2.81%+100,000*2%=3,011+2,000=5,011
Y3 : ((102,050*1.05)-3,011)*1.05*2.81%+100,000*1%(CDSC)=104,141*1.05*2.81%+100,000*1%=3,073+1,000=4,073

Y4 : ((104,141*1.05)-3,073)*1.05*1.82%=(106,275*1.05)*1.82%=2,031
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X1 : 100,000*2%+(98,000*1.05)*1.82%=2,000+1,873=3,873

X2 :((98,000*1.05)-1,873)*1.05*1.82%=101,027*1.05*1.82%=1,931

X3 :((101,027*1.05)-1,931)*1.05*1.82%=104,148*1.05*1.82%=1,990

X4 :((104,148*1.05)-1,990)*1.05*1.82%=107,365*1.05*1.82%=2,052
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BE2FEEEH 5,011 3,011 3,011

BEIFEEH 4,073 3,073

BAFEER 2,031
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54 3% -

Y1 : (100,000*1.05)*2.81%+100,000*3%(CDSC)=2,951+3,000=5,951

Y2 : ((100,000*1.05)-2,951)*1.05*2.81%+100,000*2%(CDSC)=102,050*1.05*2.81%+100,000*2%=3,011+2,000=5,011
Y3 : ((102,050*1.05)-3,011)*1.05*2.81%+100,000*1%(CDSC)=104,141*1.05*2.81%+100,000*1%=3,073+1,000=4,073

Y4 : ((104,141*1.05)-3,073)*1.05*1.82%=(106,275*1.05)*1.82%=2,031
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